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ECONOMICS HSSC-II
SECTION - A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

{i) Real National income increases when:
A Prices of goods and services increase B National savings increase
C. Production of goods and services increase D. Consumption increases
{ii) Gross National Product - Depreciation Allowance = 7
A NNP B. GDP C Personal Income D. National Income
(iii) Consumption is a function of:
A Saving B Investment C. Income D Taxes
{iv) Commercial banks create
A Credit money B. Legai money C. Metallic money D. Paper money
(v) Value of money means:
A Gold purchased by money B. Purchasing power of money
C. Importance of money D. Demand for money
{vi) Which one of the following is the most widely used too! of Monetary Policy?
A Clearing House B Discount Rate
C. Open market operation D lssuing of currency
(vii) Which bank controls the banking system in most of the countrigs?
A Central Bank 8. Commercial Bank
C. Investment Bank D. Woarld Bank
(viii) To bring equitable distribution of National income, faxes should be:
A, Direct B Indirect C Proportional D Progressive
{ix) Which one of the following will increase the rate of capital formation?
A Less saving B New technology
C. Rapid Poputation growth D. High interest rate
(x) Which one of the foliowing steps will increase per capita income in Pakistan?
A Increase in taxes B. Increase in imports
C. Increase in investment D. increase in population
(xI) Economic Development is measured on the basis of:
A, increase in nominal GNP B. [ncrease in real GNP
C. increase in Government revenue D Increase in Personal income
{xi1) Economic Planning in Pakistan is conducted by:
A Pakistan Planning Council 8. Pakistan Planning Board
C Pakistan Planning Commission D, Pakistan Planning Authority
{xii) Praductivity of labour is measured by:
A Measuring GDP 23 Production per hour
C Production per day D Total working hours
(xiv} Unemployment takes piace because of:
A High demand for labour B. More exporis
C. High population growth rate D. Increase in literacy
{xv) Devaluation of currency results in:
A. Anincrease in imports B. A decrease in exports
C An Increase in exports & decrease in imports D Adecrease in exports and increase In imports
(Xvi) If japan and Pakistan start free trade, difference in wages in both countries wil):
A Increase B. Decrease
C. Be unaffected D. Double
{xvill  Whatis the basic function of World Trade Qrganization (\WTO)7?
A To setlle trade agreements B To allow exporis among countries
C. Tao allow protection policies D. To promate free trade
(xvill)  An interest free economy is established under:
A. islamic Economic System 8. Capitalism
C. Socialisim D. Mixed economy
{xix) How much proportion of Barani land’s output is paid as usher?
A 6% B. 8% C. 10% D. 12%
(XX One of the following 1s NOT a part of sugply of money:
A Coins B Currency notes C. Gold D. Bank deposit
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Time allowed: 2:35 Hours

L/?

ECONOMICS HSSC-II

Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B(a)’ ,one patt from Section ‘B{b)’ and any three guestions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.
SECTION - B (Marks 50)
Q.2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
{15 x 3 = 45)
{n Define National Income.
{n What is meant by Subsidy?
{in Define consumption and consumption functions.
(iv) Differentiate between Induced Investment and Autonomous Investment.
{v) Define Quantity theory of money
{vi) What is meant by Bill of Exchange?
(vii) Why is Central Bank called ‘Clearing House'?
{viii) Define Economic Planning.
{ix) Point out any three Industriai problems in Pakistan.
(x) What is the difference between Price and fee?
(X} Why infrastructure is impartant for Economics Development.
Ixii) Differentiate between progressive tax and proportional tax.
[xiii}  What is meant by vicious circle of poverty?
{XIv) Differentiate between GDP and GNP.
(xv) Define open market operation.
{xvi)  What is the difference betwean Balance of Payment and Balance of Trade?
(xvil)  What is meant by geographical mobility of fabour?
{xviit)  What do you mean by Double Co-incidence of wants?
(xix) Differentiate between currency and money
{Xx) Write three features of Mixed Economy.
{xx1)  Write down any three characteristics of good money.
b. Attempt any ONE part. (1x5=25)
i) Explain how does equality of saving and Investment determine equilibrium of National Income?
(i) Describe the principles of taxation.
SECTION — C (Marks 30)
Note; Attempt any THREE questions. All questions carry equal marks. (3 x 10 =30)
Q.3

Q.4
Q.5
Q.6

How do commercial banks create credit money? Explain with an example.

Define Economic Development. How can it be measured?

Discuss the difficulties in the measurement of National Income.

Explain the causes of low per acre yield in Pakistan.
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